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Which of the undermentioned bones is not a part of the knee joint?

(A) Femur bone (B) Tibia bone

(C) Fibula bone (D) Patella bone

Which of the following undermentioned organs constitute hindbrain along with cerebellum?
(A) Diencephalon and midbrain (B) Midbrain and Pons

(C) Pons and Medulla oblongata (D) Medulla oblongata and midbrain

Which of the following is the most common site for collection of blood sample?
(A) Brachial artery (B) Brachial vein
(C) Median cubital vein (D) Radial artery

Which of the undermentioned types of haemoglobin is not normally found within the human
erythrocytes?

(A) HbA (B) HbA2

(C)HbCO (D) HbO2

Which of the following is the principal mineralocorticoid in the body?
(A) Aldosterone (B) Testosterone

(C) Progesterone (D) Cortisol

Normal glomerular filtration rate is:

(A) 125 ml / min (B) 125 ml / sec

(C)125 ml/ hr (D) 1251/ min

The contractile unit of skeletal muscle is called as:

(A) Neuron (B) Portal triad

(C) Nephron (D) Sarcomere

Which of the following is the technical term used for study of human population?
(A) Biography (B) Bibliography

(C) Demography (D) Census

Which one out of the following is a correct statement?

(A) Culture is borrowed behavior.

(B) Superior culture is always adopted.

(C) Western culture has become universal.

(D) Only such culture traits are adopted which can be easily assimilated.

In a secondary group, a member is the other members.
(A) In face to face association with (B) Unaware of
(C) Aware of (D) None of the above
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Which one, out of the undermentioned statements is wrong?

(A) All societies have some pattern of social stratification.

(B) The process of stratification places families or individuals into an unequal
system.

(C) Stratification in modern societies is based mainly on achievement criteria.

(D) Socialist societies have no stratification.

Which of the following antitubercular drug causes peripheral neuropathy?

(A) Isoniazid (B) Pyrazinamide

(C) Rifampicin (D) Dapsone

Which out of the following is the drug of choice for syphilis in a pregnant woman?
(A) Penicillin (B) Azithromycin

(C) Tetracycline (D) Ceftriaxone

For long term use of which of the following drug is frequent serum drug level monitoring is
required?

(A) Amitryptyline (B) Haloperidol

(C) Lithium (D) Lorazepam

Which colour bags are used for handling / disposal of microbiological, non-sharp solid
waste?

(A) Red (B) Yellow

(C) Blue (D) Black

Which of the following disinfectants is used for the sterilization of cystoscopes?
(A) Formaldehyde (B) Chlorhexidine

(C) Glutaraldehyde (D) Povidone iodine

All of the following blood bome viruses can be transmitted through needle stick injury,
EXCEPT:

(A) Rabies Virus (B) HIV
(C) Hepatitis B virus (D) Hepatitis C virus

Which of the following methods is the method of choice for arriving at a diagnosis of typhoid
fever, after 10 days of onset of fever?

(A) Widal test (B) Blood culture

(C) Elek’s gel precipitation test (D) Coagulase test

Which of the following acts as the vector for transmission of dengue virus?

(A) Aedes aegyptii mosquito (B) Culex mosquito

(C) Tick (D) Anopheles mosquito
Which of the following types of vaccines does the BCG vaccine belong to?
(A) Killed vaccine (B) Live attenuated vaccine
(C) Recombinant vaccine (D) Toxoid preparation
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The optimum output range of oxygen concentration that is expected from an efficient oxygen
concentrator is:

(A) 80-85 % (B) 85-90 %

(C)90-96 % (D) 98-100 %

If an adult patient has sustained burns on both the thighs and the perineum, then as per the
‘rule of nine,’ the body surface area with burns would be :

(A)19 % (B) 28 %

(C)37 % (D) 41 %

Retention of which of the following electrolytes can potentially be most life-threatening in
renal failure:

(A) Phosphorus (B) Calcium

(C) Potassium (D) Sodium

Administration of which of the following drug constitutes the immediate treatment of
anaphylaxis?

(A) Adrenaline (B) Benzyl penicillin

(C) Hydrocortisone (D) Atropine

Estimation of ‘Glycosylated Haemoglobin' is done for diagnosis of which of the following
undermentioned conditions?

(A) Hyperthyroidism (B) Diabetes mellitus

(C) Gout (D) None of the above

Urea breath test in exhaled breath is used to detect the presence of

(A) Escherichia coli (B) Streptococcus

(C) Helicobacter pylori (D) Staphylococcus

Deficiency of which of the following micronutrient leads to development of neural tube

defects?

(A) Folic acid (B) Iron

(C) Calcium (D) Zinc

The first secretions from the mother's breast following delivery is called as
(A) Sequestrum (B) Colostrum

(C) Lochia (D) Leucorrhoea

Which of the following is the common ideal female pelvis?

(A) Android (B) Gynecoid

(C) Platypelloid (D) Anthropoid

Which of the following condition is the commonest cause of postpartum haemorrhage?
(A) Atonicity of the uterus (B) Subinvolution

(C) Birth injury (D) Puerperal sepsis
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At which of the following weeks of the gestation does the uterus normally reach the level of
the xiphisternum?

(A) 32 weeks (B) 36 weeks

(C) 40 weeks (D) 42 weeks

At which stage after the delivery, should RhoGM anti-D antibodies be administered to a Rh-
negative mother?

(A) Within 01 hour after delivery (B) Within 05 hours after delivery
(C) Within 24 hours after delivery (D) Within 72 hours after delivery
Census is conducted in every years in India.

(A) 10 (B) 25

(C)05 (D) 15

ASHA workers are working at :

(A) Community level (B) Village level

(C) PHC level (D) District level

Which of the following is the figure representing the population that is covered at the level of
the community health center?

(A) 5000 - 6000 (B) 20,000 - 30,000

(C) 80,000 - 1,20,000 (D) 40,000 - 50,000

Every year, April 7" is celebrated as ;

(A) World Population Day (B) World Health Day

(C) International Nurses's Day (D) World Women's Day

Which of the following is the first step in the purification of water at large scale?
(A) Storage (B) Filtration

(C) Disinfection _ (D) Boiling

The most common cause of blindness in India is:

(A) Cataract (B) Glaucoma

(C) Ocular injuries (D) Vitamin A deficiency

Which of the following cranial nerve is affected in Bell's palsy?

(A) Cranial nerve VI (B) Cranial nerve VII

(C) Cranial nerve IX (D) Cranial nerve X

Pentavalent vaccine includes

(A) Diphtheria, Pertussis, Tetanus, Haemophilus influenza type B, Hepatitis B.

(B) Dengue, Pertussis, Tuberculosis, Haemophilus influenza type B, Hepatitis B.
(C) Diphtheria, Pertussis, Tuberculosis, Haemophilus influenza type B, Hepatitis B.
(D) Measles, Mumps, Rubella, Dengue, Tuberculosis.
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Injury to the upper brachial plexus results in ;
(A) Klumpke's palsy (B) Phrenic nerve palsy
(C) Facial palsy (D) Erb's palsy

What out of the following should be the ideal dose for vitamin A to be administered in a 06-12
months old infant?

(A) 01 lac L.U. (B) 02 lac |.U.

(C) 50,000 I.U. (D) 25,000 I.U.

All of the following are the major criteria for diagnosis of Rheumatic fever, EXCEPT one, i.e.

(A) Carditis (B) Fever

(C) Polyarthritis (D) Erythema marginatum
Outward bending of the foot is called as .

(A) Talipes equinus (B) Talipes varus

(C) Talipes calcaneous (D) Talipes valgus

On which of the following dates was the President's rule imposed for the first time in the state
of Haryana?

frfaf@d & & v ardm Y gRao T 3 ugel aR Iseufy e et T a4
(A) 213 November, 1967 3% sTa@aT §6b (B) 30" April 1965 30 3T%a ¢REl
(C) 2™ December, 1972 ? REFT 1363 (D) 30™ April 1977 30 319 ¢RUsb

Who among the following is famous with the name of ‘Haryana Kesari'?

ArAfaf@a 37 & Fie eRIom FHd' F 7197 F o F= T §2
(A) Ch. Devi Lal gt. & arer (B) Pt. Neki Ram Sharma Ho s¥ehr T 2T#HT
(C) Ch. Bansi Lal =it. € arer (D) Pt. B. D. Sharma o &T 2T 2T

In which of the following years was ‘cantonment’ established at Ambala?

fFafaf@T & ¥ g af 3 siarem & orasht Hr wmg=r f 7= o2
(A) 1843 t¢¥3 (B) 1846 t¢ys,
(C) 1848 $¢y¢ (D) 1839 t¢3%

How many districts were present at the time of the formation of the Haryana state?
ERATUI IT & 3157 & GHT gRmom & e forer Al 29

(A) Eight 311S (B) Six &:

(C) Seven U1 (D) Nine =it
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49. Who among the following wrote, ‘Ladki Ki Bahaduri?'
frsfatae 3 & foheer ‘orgehr hr sgredr i L= 3 A

(A) Dr. Nanak Chand Sharma 3To #Tee ¢ 2T
(B) Shri Raja Ram Shastri 4T I3 W37 &Y

(C) Dr. Rattan Chand Sharma STo Tde d¢; 2T

(D) Shri Madhav Prashad Mishr 2 #rera srare; f#7ar

50. Who is popularly known as the ‘Shakespeare’ of Haryana?

Arfaf@a & & fra ol &1 gRaon & Qeafa & a5 A S Sar s?
(A) Pt. Neki Ram 9 #¥ehT I8 T

(B) Shri Surender Sharma 4 F¥eg T

(C) Shri Deep Chand Bahman 4 &9 @ig ag#sT

(D) Shri Chaurangi Nath = ==Y @mer

51. In which of the following district of Haryana, have the ‘Ashoka edicts' been found?

foraAfal@a & ¥ gRamn & fFa e & rls F Reew m@rgtra?r?,
(A) Gurugram  I[¥aTe (B) Rewari Yarer
(C) Sirsa f@w@r (D) Yamunanagar J#+TR

52. Which of the following districts is known as the ‘Heart of Haryana'?

Prafafaa 7 & o Srer & g &1 gea o wer srar 27
(A) Sonepat Hei1geT (B) Panchkula Faser
(C) Jind St (D) Kaithal 3erer

53. Which district of the Haryana State is also known as the ‘Choti Kashi?'
rafaf@a & & eRamon & o ek &1 1 sl & am & of s ST e

(A) Kurukshetra &%atT (B) Bhiwani f&aret
(C) Jind Sffe; (D) Kaithal #verer

54. At which of the following place in Haryana state is the ‘vulture conservation and
breeding center’ situated?

Frfaf@a 7 & gRamn & fFy @e W Fewr @wamr g yoas S g 7
(A) Sultanpur (Gurugram) ed=T9Y ([¥%1H)  (B) Pinjore Ry
(C) Karnal s3=Ter (D) Nuh G
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With which of the following sports is Devendra Jhajharia associated?

A, ST f@ensY, Reafaf@d & 3 e @ & e gefa §2

(A) Boxing FerbaiTeft (B) Badminton #sfest

(C) Archery dRETSiY (D) Javelin throw Stafa=T gt

At which of the following place in the Haryana state, does during a recent excavation
process, remains of Indus Valley Civilisation were identified?

e s & frerfaf@a # & f et v arer € 3 Semeer wihar & alver Ry andy
TFIAT & 7aANT Fr ggare iy 7S o2

(A) Hansi grdY (B) Tigrana fearrar
(C) Meham #gH (D) Dadri gre3r
At which of the following place in the Haryana state, is the international market for spices

going to be established?

g Tew & Reafaf@d 7 3 v Tuer W AwTat #7 HeaisaT ST TR g ST @I
&

(A) Hissar fgeR (B) Rohtak Jgde®
(C) Sonepat H=ge (D) Sirsa f@3@r
Which of the following is the highest sports award in the Haryana state?

Prafaf@a Ao QWEpRT 7 § R Ts7 1 wafa Ao SR Fia @ g
(A) Bhim award 8fie Qe (B) Arjun award 3is{eT JREHR
(C) Dronacharya award ZIUTEITIT TSR (D) Lakshmi award &+ TGEFR

Which of the following is the lowest unit of Panchayati Raj in Haryana?
RO T # Tl AT cgae 7 et 3 & Pl 3 geiaer s 2
(A) Block Samiti seTeh afaifar

(B) Gram Panchayat IITH qa1dd

(C) Gram Samiti oI &R

(D) None of the above 39RIFT & & HI$ off 58T

In how many administrative divisions is the state of Haryana divided?

gRATOT U # frast wenafaes fRdera $1 saawr 22
(A) Six & (B) Eight 3T&
(C) Five 9Ter (D) Four Tx
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Which of the following district of Haryana, does not have a district court?
raAfaf@e 7 & gRamn & o e 37 en =amarea sigi 872

(A) Mewat Jard (B) Palwal geT@er

(C) Charkhi Dadri g3 e (D) Kaithal &2rer

In which year was the ‘Aapki beti — hamari beti’ scheme launched in the Haryana state?

T F & g o & gR=mom U & 3m9hy 98 - gAry 8 TNSTAT Y BT T Ay &r?
(A) 2015 2089 (B) 2016 Q0%
(C) 2017 2011 (D) 2018 R0t¢

During the reign of whom of the following was the famous ‘baoli’ (water tank) got built in
Meham?

ForesT 31 & fowr Qe 3 QIRHeT hiel 31 ‘FEH' gl 7 HTAEE STory &1 foisor g3im 2
(A) Akbar 3raT (B) Jehangir FgRTR
(C) Shah Jahan 2ngsigl (D) Aurangzeb 3i@Totd

In which of the following year did the Hathnikund barrage become functional?

rfafad & & e at F sRfads S Frifees ot amr am
(A) 2000 2000 (B) 2001 00¢
(C) 2002 2003 (D) 2003 3003

In which of the following district of Haryana is the ‘Surya Grahan Fair’ organized?
RO W & et 7 @ forw vt 3 2 argor A &1 3marere R smar 82

(A) Kaithal &erer (B) Kurukshetra &%t

(C) Bhiwani Barir (D) Gurugram F[¥aITe

To which of the following district does the classical singer Pt. Jasraj belong to?

ST QTEA 3TF Go STANIST ot 7 faveT F & vt Forer & wmer woaer 82
(A) Ambala 37aTelT

(B) Hisar fga

(C) Sirsa fawar

(D) Panipat 9rAT9a
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In which of the following part of the body, is the ornament ‘Purali’ worn?

“ RTCIT 3BT * X & fohdr 87197 3 Ugadt SiTeiT 7
(A) Hand gTe1 (B) Ears &hTel
(C) Nose =T (D) Neck 1T

Which of the following continent of the world does not have a ‘desert’?

firea & Pl 3 & R AETediT 3 ‘Freeeer #8 &2

(A) Australia 3itefar (B) Europe JJq

(C) Asia ¥R (D) North America 3e<Y 37T

Which among the following is the expanded form of ‘'SAARC'?
fFeAfaf@a A & ‘'SAARC' &1 favaRa &9 @it & 2

(A) South Asian Association for Regional Cooperation.
(B) South Asian Assaciation for Religious Cooperation.
(C) South Asian Association for Rural Cooperation.
(D) None of the above.

Pointing towards Abdul, Safiq said, “He is the son of the father of the mother of my
daughter.” How is Abdul related to Safig?

wfthas & 37eger Y D AN & §U Fgl, “Tg H 98 1 A & Tew #7197 §1° T,
frFTafEd & & srsger &1 wrfther & s Rear 2

(A) Uncle =T (B) Brother-in-law &TeIT

(C) Brother 1% (D) Father-in-law ST

Select the option that will correctly replace the ‘question mark (?) in the given series,
mentioned below:

AT 7 & 7 a1 Ry &) 18 H@en & vt Reg & T W 3= aige?
6, 10, 14, 22, 30, 42, ?

€, 20, ¥, R, 30, ¥R, ?

(A) 48 (B) 56 (C) 54 (D) 50

There are twenty green and fifteen red balls kept in a vessel. What would be the probability
to choose a green ball?

waﬁﬂﬁqoaﬁawmﬁ&uﬁg@%wﬁqﬁﬁmﬁrﬁ,ﬁmﬁ@aﬁﬁaﬁ I e v
HESATaAT T graf?

(A) 1/20.
(B) 1/35.
(C)4/7.
(D) 3/4.
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How many two digits numbers are divisible by 3?

ar 37t &1 farerstr U Twar € Y i ofier I RS i o g §2
(A) 20 (B) 30

(C)35 (D) 25

The colour of the cow's milk is slightly yellowish due to the presence of which of the following
substance?

fArafaf@d & & fw gere $ir 3ufRufa & FRor amr & gy F1 F1 geahr delm g1aT 872

(A) Xanthophyll (B) Riboflavin

(C) Ribulose (D) Carotene
Which of the following gas is released from the paddy fields?
PrAfaT@d & I Fie @ 37 a=r & Wat & F PFadr 22

(A) CO (B) CH4

(C) H2S (D) NHa

' HNEeT & 3T aHY £ ITGHT FATH 3 Dot AT el §2

(A) 3T (B) aHAs

(C) 39T (D) 2y
Prafaf@a & & Fier dr e Yo $r 7

(A)gad g qa & (B) FHTHIA

(C) TMeTet (D) 8 & gl
Which of the following is the correct synonym of the word ‘dearth’?
(A) Hollow (B) Scarcity

(C) Blank (D) Loss

Which out of the following sentences is the grammatically correct sentence?

(A) It is high time he has started earning
(B) It is high time he starts earning.

(C) It is high time he started eaming.
(D) It is high time he will start earning.

Who among the following is known as the ‘Father of the Computer'?
(A) Ada Lowlace (B) Mark Twain

(C) Newton (D) Charles Babbage
One megabyte in base 2 (binary) is equivalent to 4
(A) 10° bytes (B) 10? bytes

(C) 2'° bytes (D) 2% bytes
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Which among the following is the binary equivalent of 10?

(A) 1100 (B) 1010

(C)0101 (D) 1001

Who among the following owns ‘Android’?

(A) Apple (B) Google

(C) Microsoft (D) Amazon

In which of the following applications is the term ‘slide show' used?

(A) Microsoft Power Point (B) Microsoft Word

(C) Microsoft Excel (D) All of the above

Which among the following denotes the full form of ‘OEM'?

(A) Original equipment management (B) Qriginal equipment malfunction
(C) Order equipment management (D) Original equipment manufacturer
For which among the following type of the websites is the term *.com’ used?

(A) Committed sites (B) Common sites

(C) Computer sites (D) Commercial sites

Which among the following is the expanded form of ‘1SQ'?
(A) Internet Search Organisation

(B) Internal Search Objective

(C) International Organisation for Standardisation

(D) None of the above

Which among the following is the expanded form of ‘'VPN'?

(A) Very Private Network (B) Very Pretty Network
(C) Very Powerful Network (D) Virtual Private Network
Which among the following is the expanded form of ‘USB'?

(A) Uncontrolled Serial Blast (B) Unique Serial Bus

(C) Universal Serial Bus (D) Under Sea Bathing

Which of the following gland is responsible for secretion of tears by the eye?
(A) Parotid gland (B) Sublingual gland
(C) Tarsal gland (D) Lacrimal gland
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found blank, it shall be crossed by the Invigilator with
his/her signature and mentioning ‘Cancelled’ on it.

13. The OMR Answer Sheet will be evaluated through
electronic scanning process. Incomplete or incorrect
entries may render your OMR Answer Sheet invalid.

14. Each question has four alternative answers of which
only one is correct. For each question, darken only one
circle, whichever you think is the correct answer on
the OMR Answer Sheet with only Blue/Black Ball Pen
provided. Pencil should not be used for darkening the
circle. If more than one circle is found darkened, that
answer will not be evaluated.
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14.
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15. If a candidate does not comply with the instructions as
mentioned above or creates any kind of indiscipline,
the authorities shall take action as per instructions and
in addition can also debar the Candidate from
appearing in the Examination, to be held in future and
can also file criminal proceedings.

15.
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ANSWER KEY FOR WRITTEN SCREENING TEST CONDUCTED BY
PT. B.D. SHARMA UNIVERSITY OF HEALTH SCIENCES, ROHTAK, FOR
RECRUITMENT OF STAFF NURSES.

(HELD ON 17.04.2022 BETWEEN 12.30 PM TO 02.00 PM)

SET-C
1 C 24 A 47 A 70 B
2 C 25 B 48 C 71 C
3 C 26 C 49 D 72 C
< C 27 A 50 C 73 B
5 A 28 B 51 D 74 D
6 A 29 B 52 C 75 B
7 D 30 A 53 B 76 B
8 C 31 B 54 B 44 C
9 D 32 D 55 D 78 B
10 B 33 A 56 B 79 C
11 B 34 B 57 C 80 D
12 A 35 C 58 A 81 )
13 A 36 B 59 B 82 B
1 C 37 A 60 A 83 B
15 B 38 A 61 C 84 A
1 C 39 B 62 A 85 D
17 A 40 A 63 C 86 D
18 A 41 D 64 C 87 C
19 A 42 A 85 B 88 D
20 B 43 B 66 B 89 C
21 C = D 67 C 90 D
22 C 45 A 68 B
23 C 46 B 69 A




